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(1). Find the magnitude and direction ol the net Gleslioste 4 :
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on Q1 in the figure respectwely : ! \
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(2). In one model of the Hydrogen alom;

<.

erbit around a proton with a speed” of {.1%106mls: WI\.—\I is the >

radius of the electron orbit. Talke k= 9:{]0" Nm#/ m.—Q J"cl() uk;_‘
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lgel = 1qpl= 1.602x10-19C ' :
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Use the question below to answéir No 3-6
r Kt
The field on mthm 'side ol an infinite sheel of <|1 wege ol clvnm[v 0

) is -B= 0—/1550} Use ths result ‘(o find the ficld i (he four
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(5) Region 111 (3)50 (b) ; 0 (c) = 0‘ : (d) 6O “ (e) 90— :
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(6) Region 1V (a) O ((b)ﬁ " ‘\> (c) 2 a j (d)- O () 30U
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(7) The phenomena whereby EleCtI'lC field lines are bent at the edges

of a parallel plate capacuor is called (a) polarization (b) edge effect

.__......_.,_\

(c) threshold effect(]d) standard effety(e ) dielectric effect

(8) Find the potentlal difference between two large par allel metal

plates if the separatlon is 3mm with electric ficld of 40kV/m .

towards —ve plate (a) 140V@(c] 100 V (d) 80V (e) 60 V
(9) Given two capacitors for which Cz = 2C; compare the I)Ott‘lhlf__lfll
differences when they are connected in Seriesyoe Ltk i/\/‘{
(10) a parallel — plate capacitor has plates with dimension
gemxdem separated by 2mm. The plates are. connected across 4
i 60V bLattcry. Find ‘the oapamtanf*e (a]S 317 (b) 4.4pf (c) 4.40 (d)
& 5 eipli(c)of i |
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(12). When an electi‘d_'

I

Placed ina umfolm magnetic field of 2 x

10-¢which has a. velocaty 15 6 % LOLW and ﬁnd the cadius of the path

of tge e- in the field

(13). The L:.;c;t:ﬁ:ﬂfof CyCIOtIOH frequency is =

(@), qm (b) oB  (c). mB (df.qB : -
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(14). Which of th,lS statement is/are true
(m)s e ikl cyclotron frequency and time arc dcpendent on speed

()l partlclcs with same ratio of q/m have (he same period rmd

frequency
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